Broken pieces

Students work in groups and are given the following cut up 

	o x e = i


	3d = l


	o + y = 5



	3 x d = 12


	y2 = t


	3 x o = n



	y – o = r


	n < 10


	yd = u – r



	o + e = s


	2 x p = n + i


	

	2y = n


	3y + 2 = b


	


Solve this as a group, working out what the coded message below says.
The solution has all of the numbers from 1 to 13 with no repeats.

Students can keep 2 or 3 cards each and share their ideas with the group to solve. o is the letter, not the number 0.

7 9 13 4 5 6 9

1 5 7 8 2 6 7 10 11 10 12 10 9 3

Solution:

1   2   3   4   5   6   7   8   9   10   11   12   13

r    o   y   d   e   n   s   p    t     i     b      l      u

